B ccrcisc 4.1

COMPLETE THE TABLE

| , Factors Product
5x10 5,10 - 50
7%6 1.6 H2
9x8 a.,8 12
6 x3 6,3 18
9x Y o0, 4 36
5 x9 5,9 45
8x 8 8, 8 64
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.1 fillin the blanks.

atex__ 4 =12 (b)2x(3x B )=__2 x (3%5)
()94 _x1=9 (d)11x0=__0
@)5x9=_ 94 x5 fH_1 x6=_6

| @7x 3 =3x % (h)_H x (1x9)=4x(1x )
' 2 Look atthe pattern and complete.

03,69 2, _\5 , _18

- 123, y , 5 , _6

- 81216, _=20 , _24 , _28
- 9102030, _4o , _s0 , _60O
- ©1827,35, _4s , 84 , _6€3
" (f 714,21, 28 .t . Wi
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3 Fillin the missing gaps in the multiplication grid.

X 1 2 3 4 8 6 7 t 9 19
1 1 2 3 4 8 6 7 8 9 10
2 2 4 68 10 12 14 1§ 18 nu
3 8 6 9. % )F 18 &) 24 %F 39

4 4 B 12 16 20 aM 28 232 36 4
? 45

8 42
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